

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 16, 2025

Progress	Contract ID	240920-C03	Pay Period StartSeptember 2, 2025 Original Contract Amount \$7,377,083.02
Estimate Number	Prime Contract	orSuperior Bowen Asphalt Co	ompany, LLC Pay Period End September 15, 2025 Net Change Order Amount \$484,203.07
15			Current Contract Amount \$7,861,286.09

Approval Date		By User
September 16, 2025	Generated and Approved (and should be considered Draft) at the Project Office Level by	watkib6
September 16, 2025	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	wilsor2
September 18, 2025	Reviewed and Approved at the Central Office Controllers Office Level by	ramses1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete				
November 1, 2025	November 1, 2025	August 26, 2025	100.00%				

	Contract Information	onal Dates
Date Description	Original Completion Date	Current Completion Date
Acceptance Date		
Awarded Date	October 2, 2024	October 2, 2024
Letting Date	September 20, 2024	September 20, 2024
Notice to Proceed Date	November 4, 2024	November 4, 2024
Work Began Date	March 10, 2025	March 10, 2025

	Mi	lestones		
Date Description	Original Completion Date	Current Completion Date	Days Remaining on Milestone	Diary Charge Days
Milestone - Calendar Days - JKU0046	May 13, 2025	May 13, 2025	Milestone Complete	
Milestone - Calendar Day - JKU0054	September 8, 2025	September 8, 2025	Milestone Complete	

Contract Total P	ay For Estimate No. 15			
		This Estimate	Previous	To Date
240920-C03				
	Total Posted Items Pay	\$5,232.00	\$7,856,054.11	\$7,861,286.11
	Gross Item Adjustments	\$2,982.40	\$36,004.66	\$38,987.06
	Incentive	\$0.00	\$60,000.00	\$60,000.00
	Disincentive	\$0.00	\$0.00	\$0.00

\$0.00 \$0.00 \$323,735.57 Liquidated Damage
Other Contract Adjustments \$0.00 \$0.00 \$323,735.57 \$0.00 \$8,275,794.34 \$8,284,008.74

\$0.00

Contract Total Payable This Estimate: \$8,214.40

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JKU0054	5108	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	EA	\$450.000	2	\$900.00
	5109	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	LF	\$6.000	722	\$4,332.00

Project JKU0054 - Total \$5,232.00 Overall - Total \$5,232.00

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

		ments This Estimate						
Project Number	Line No.	Item Description	Description Adjustment Type Adjustment Type Comments Adjustment Type		Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JKU0054	0650	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',24.00000 - 24.00000, 'is applied (if non-zero).	100	\$24.00	\$2,400.00
	0670	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',210.00000 - 210.00000, 'is applied (if non-zero).	2	\$210.00	\$420.00

Revision 9/2/2025 Page 1 of 16



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 16, 2025

Progress Estimate Number 15 Contract ID 240920-C03 Pay Period Start September 2, 2025 Original Contract Amount \$7,377,083.02 Prime Contractor Superior Bowen Asphalt Company, LLC Pay Period End September 15, 2025 Net Change Order Amount \$484,203.07 Current Contract Amount \$7,861,286.09

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JKU0054	0730	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.16000 - 0.16000, 'is applied (if non-zero).	1,015	\$0.16	\$162.40
Total								\$2,982.40

Revision 9/2/2025 Page 2 of 16



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informa	ation
Project Number	Federal Proj. Number	Project Description	Route	County		onitaat i Tojeat illiama	Location of Work
JKU0046	FAS-S304 (002)	Coldmill and resurface	1	CLAY	from Route 152 to 72nd S	treet in Kansas City	
JKU0054	FAF-152-1 (19)	Resurface, pavement repair, and guardrail	152	CLAY	from Route 1 to I-35 in Ka	insas City	
Totals b	y Job Nu	mbers					
JKU0046		Item Pay tem Adjustme		tem Pay	This Estimate \$0.00 \$0.00 \$0.00	Previous \$1,831,489.79 \$5,898.27 \$1,837,388.06	To Date \$1,831,489.79 \$5,898.27 \$1,837,388.06
			tments		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$30,720.38	\$0.00 \$0.00 \$0.00 \$30,720.38
JKU0054		Item Pay tem Adjustme		tem Pay	This Estimate \$5,232.00 \$2,982.40 \$8,214.40	Previous \$6,024,564.32 \$30,106.39 \$6,054,670.71	To Date \$6,029,796.32 \$33,088.79 \$6,062,885.11
			tments		\$0.00 \$0.00 \$0.00 \$0.00	\$60,000.00 \$0.00 \$0.00 \$293,015.19	\$60,000.00 \$0.00 \$0.00 \$293,015.19

Revision 5/29/2025 Page 3 of 16



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

Revision 5/29/2025 Page 4 of 16



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

t Project No.	Category	Line No.	Item Code	d on Report Generated date and can differ from the poste Description	Bid Quantity	Net Change	Total Current	Unit	Total Posted	Unit Price	Total Value POSTEI To Date (See repor
						Order	Quantity		Approved Qty		generated date)
JKU0046		0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$3,150.00	\$3,150.0
	0001	0020	2153000	SHAPING SLOPES, CLASS III	4.00	0.00	4.00	100F	4.00	\$610.00	\$2,440.
	0001	0030	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	347.00	-347.00	0.00	TONS	0.00	\$55.15	\$0
	0001	0040	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	1,288.50	-50.70	1,237.80	TONS	1,237.80	\$105.00	\$129,969
	0001	0050	4030004	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095B MIX)	5,694.10	778.80	6,472.90	TONS	6,472.90	\$113.00	\$731,437
	0001	0065	4079912	MISC.HIGH APPLICATION RATE TACK COAT FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL	16,963.00	528.00	17,491.00	GAL SQYD	17,491.00	\$3.75	\$65,591
		0070	6131010	DEPTH PAVEMENT REPAIR	561.30	-97.80	463.50	SQTD	463.50	\$199.85	\$92,630
	0001	0080	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	56.00	-56.00	0.00	SQYD	0.00	\$1.00	\$0
	0001	0090	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	56.00	-56.00	0.00	SQYD	0.00	\$1.00	\$0
	0001	0100	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	2,232.00	136.00	2,368.00	LF	2,368.00	\$1.45	\$3,433
	0001	0110	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	1,004.00	-216.00	788.00	EA	788.00	\$4.25	\$3,349
	0001	0120	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	3.00	45.00	48.00	EA	48.00	\$7.65	\$367
	0001	0130	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	46.00	-35.00	11.00	EA	11.00	\$3.30	\$36
	0001	0140	6133018	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	247.40	-81.20	166.20	TONS	166.20	\$145.00	\$24,099
	0001	0150	6133019	REMOVAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	1,121.50	-55.90	1,065.60	SQYD	1,065.60	\$125.00	\$133,200
	0001	0160	6161005	CONSTRUCTION SIGNS	1,224.00	-75.00	1,149.00	SQFT	1,149.00	\$4.00	\$4,596
	0001	0170	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$50.00	\$200
	0001	0180	6161025	CHANNELIZER (TRIM-LINE)	400.00	0.00	400.00	EA	400.00	\$12.00	\$4,800
	0001	0190	6161040	FLASHING ARROW PANEL	4.00	0.00	4.00	EA	4.00	\$500.00	\$2,00
	0001	0200	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	2.00	0.00	2.00	EA	2.00	\$1,500.00	\$3,00
	0001	0210	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$225,000.00	\$225,00
	0001	0220	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	126.00	0.00	126.00	LF	126.00	\$6.00	\$75
	0001	0230	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	396.00	114.00	510.00	LF	510.00	\$24.00	\$12,24
	0001	0240	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	60.00	135.00	195.00	LF	195.00	\$24.00	\$4,68
	0001	0250	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	18.00	15.00	33.00	EA	33.00	\$350.00	\$11,55
	0001	0260	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	2.00	0.00	2.00	EA	2.00	\$350.00	\$70
	0001	0270	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	99.00	33.00	132.00	EA	132.00	\$210.00	\$27,72
	0001	0280	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	12,494.00	0.00	12,494.00	LF	12,494.00	\$0.16	\$1,99
	0001	0290	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	26,558.00	0.00	26,558.00	LF	26,558.00	\$0.26	\$6,90
	0001	0300	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	4,603.00	1,156.00	5,759.00	LF	5,759.00	\$0.26	\$1,49
	0001	0310	6206125A	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,306.00	-1,306.00	0.00	LF	0.00	\$4.00	\$
	0001	0320	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	84,816.00	-84,816.00	0.00	SQYD	0.00	\$1.40	\$
	0001	0330	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	18,137.00	-18,137.00	0.00	SQYD	0.00	\$1.80	\$
	0010	0340	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	925.00	0.00	925.00	LF	925.00	\$22.50	\$20,81
	0010	0350	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	5.00	0.00	5.00	EA	5.00	\$2,742.00	\$13,71
	0010	0355	6061080	MGS END ANCHOR	1.00	0.00	1.00	EA	1.00	\$919.00	\$91
	0030	0370	9029902	MISC.OPTIONAL TRAFFIC SIGNAL DETECTORS	5.00	1.00	6.00	EA	6.00	\$13,750.00	\$82,50
	0001	5001	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	0.00	102,953.00	102,953.00	SQYD	102,953.00	\$2.10	\$216,20
Project .		otal Value	Posted to I	Date as of Report Generated Date							\$1,831,48
JKU0054		0380	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$12,600.00	\$12,60
	0001	0390	2159910	MISC.SHAPING SLOPES CLASS III MODIFIED MATERIAL REQIREMENT	15.00	1.80	16.80	100F	16.80	\$900.00	\$15,12
	0001	0400	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	4,033.60	-2,209.60	1,824.00	TONS	1,824.00	\$65.80	\$120,01
	0001	0410	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	8,536.10	-2,051.40	6,484.70	TONS	6,484.70	\$90.00	\$583,62
	0001	0420	4030005	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP095C MIX)	20,174.10	10,369.10	30,543.20	TONS	30,543.20	\$113.50	\$3,466,653
	0001	0430	4079912	MISC.MODIFIED BONDED ASPHALTIC CONCRETE PAVEMENT	69,464.00	14,196.00	83,660.00	GAL	83,660.00	\$3.75	\$313,725
	0001	0440	4133200	ULTRATHIN BONDED WEARING SURFACE, TYPE C	116,654.00	-116,654.00	0.00	SQYD	0.00	\$7.20	\$0
	0001	0450	4139905	MISC.HIGH FRICTION SURFACE TREATMENT (BAUXITE)	5,612.00	0.00	5,612.00	SQYD	5,612.00	\$28.96	\$162,523

Revision 5/29/2025 Page 5 of 16



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTEI To Date (See report generated date)
40920- 03	JKU0054	0001	0460	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	416.50	436.30	852.80	SQYD	852.80	\$250.95	\$214,010.1
		0001	0470	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	42.00	-42.00	0.00	SQYD	0.00	\$1.00	\$0.0
		0001	0480	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	42.00	-42.00	0.00	SQYD	0.00	\$1.00	\$0.0
		0001	0490	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	1,404.00	2,067.00	3,471.00	LF	3,471.00	\$1.45	\$5,032.9
		0001	0500	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	220.00	974.00	1,194.00	EA	1,194.00	\$4.25	\$5,074.5
		0001	0510	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	172.00	-34.00	138.00	EA	138.00	\$7.65	\$1,055.7
		0001	0520	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	91.00	-19.00	72.00	EA	72.00	\$3.30	\$237.6
		0001	0530	6133018	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	9.70	-9.70	0.00	TONS	0.00	\$200.00	\$0.0
		0001	0540	6133019	REMOVAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	87.60	-87.60	0.00	SQYD	0.00	\$150.00	\$0.0
		0001	0550	6161005	CONSTRUCTION SIGNS	1,624.00	0.00	1,624.00	SQFT	1,624.00	\$5.00	\$8,120.0
		0001	0560	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$50.00	\$200.0
		0001	0570	6161025	CHANNELIZER (TRIM-LINE)	278.00	122.00	400.00	EA	400.00	\$25.00	\$10,000.
		0001	0580	6161030	TYPE 3 MOVEABLE BARRICADE	15.00	0.00	15.00	EA	15.00	\$125.00	\$1,875.0
		0001	0590	6161033	DIRECTION INDICATOR BARRICADE	56.00	0.00	56.00	EA	56.00	\$60.00	\$3,360.0
		0001	0600	6161040	FLASHING ARROW PANEL	6.00	0.00	6.00	EA	6.00	\$750.00	\$4,500.
		0001	0610	6161055	SEQUENTIAL FLASHING WARNING LIGHT	56.00	0.00	56.00	EA	56.00	\$60.00	\$3,360.
		0001	0620	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	8.00	-2.00	6.00	EA	6.00	\$2,500.00	\$15,000.0
		0001	0630	6169902	MISC.ADA COMPLIANT MOVABLE BARRICADE	5.00	0.00	5.00	EA	5.00	\$50.00	\$250.
		0001	0640	6181000	MOBILIZATION	1.00	0.00	1.00	LS		\$235,000.00	\$235,000.
		0001	0650	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	1,057.00	100.00	1,157.00	LF	1,157.00	\$24.00	\$27,768.
		0001	0660	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	63.00	0.00	63.00	EA	63.00	\$350.00	\$22,050.
		0001	0670	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	298.00	2.00	300.00	EA	300.00	\$210.00	\$63,000.
		0001	0680	6200045	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LT/RT FISH HOOK ARROW	2.00	-2.00	0.00	EA	0.00	\$750.00	\$0.
		0001	0690	6205902A	$\bf 6$ IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	76,743.00	0.00	76,743.00	LF	76,743.00	\$0.26	\$19,953.
		0001	0700	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	55,137.00	0.00	55,137.00	LF	55,137.00	\$0.26	\$14,335
		0001	0710	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	6,881.00	0.00	6,881.00	LF	6,881.00	\$0.50	\$3,440.
		0001	0720	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	3,015.00	-437.00	2,578.00	LF	2,578.00	\$0.16	\$412
		0001	0730	6206001C	4 IN, YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	40.00	1,015.00	1,055.00	LF	1,055.00	\$0.16	\$168
		0001	0740	6206108A	8 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,409.00	-1,409.00	0.00	LF	0.00	\$0.30	\$0.
		0001	0750		24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	36.00	-36.00	0.00	LF	0.00	\$5.00	\$0.
		0001	0760	6206125A 6221001	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF	68.00	-68.00 -143.299.00	0.00	LF	0.00	\$5.00 \$0.85	\$0. \$123,180.
		0001	0780	6224010	SURFACING (3 IN. THICK OR LESS) MODIFIED COLDMILLING (DEPTH TRANSITIONS)	12,833.00	0.00	12,833.00	SQYD	12,833.00	\$7.25	\$123,180.
		0001	0790	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	707.30	0.00	707.30	STA	707.30	\$6.36	\$4,498.
		0010										
			0800	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	2,862.00	-137.50	2,724.50	LF	2,724.50	\$22.50	\$61,301
		0010	0810	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	2.00	0.00	2.00	EA	2.00	\$3,245.00	\$6,490
		0010	0820	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	8.00	0.00	8.00	EA	8.00	\$3,172.00	\$25,376
		0010	0830	6061080	MGS END ANCHOR	5.00	0.00	5.00	EA	5.00	\$919.00	\$4,595
			0840	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	15.00	0.00	15.00	EA	15.00	\$2,742.00	\$41,130
		0030	0850	9029902	MISC.OPTIONAL TRAFFIC SIGNAL DETECTORS	1.00	0.00	1.00	EA	1.00	\$8,205.00	\$8,205
		0001	5101	6139901	MISC.MODIFIED PAVEMENT REPAIR	0.00	1.00	1.00	LS	1.00	\$9,780.00	\$9,780
		0001	5102	1094000	FORCE ACCOUNT	0.00	54,568.59	54,568.59	EA	54,568.59	\$1.00	\$54,568
		0001	5103	4071005	TACK COAT	0.00	0.00	0.00	GAL	0.00	\$3.25	\$0
		0001	5104	4039905	MISC.SPRAY PAVER PATENT FEE	0.00	86,928.00	86,928.00	SQYD	86,928.00	\$0.30	\$26,078
		0001	5105	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF	0.00	86,928.00	86,928.00	SQYD	86,928.00	\$2.55	\$221,666
					SURFACING (3 IN. THICK OR LESS)	0.00	,==0.00	,0.00		,0.00	-2.00	, , , , , , , , , , , , , , , , , , ,

Revision 5/29/2025 Page 6 of 16



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240920-	JKU0054	0010	5106	6061060	MGS GUARDRAIL	0.00	137.50	137.50	LF	137.50	\$13.50	\$1,856.25
C03		0001	5107	6189901	MISC.MOBILIZATION FOR MILLING TRIAL	0.00	1.00	1.00	LS	1.00	\$10,331.02	\$10,331.02
		0001	5108	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	0.00	2.00	2.00	EA	2.00	\$450.00	\$900.00
		0001	5109	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	0.00	722.00	722.00	LF	722.00	\$6.00	\$4,332.00
	Project J	(U0054 - To	otal Value	Posted to E	Date as of Report Generated Date							\$6,029,796.30
240920-C	03 Overall	- Total Val	ue Poste	d to Date as	of Report Generated Date							\$7,861,286.08

Revision 5/29/2025 Page 7 of 16



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JKU0054

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.		Units	Location		Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
5108	6200027	PREF THERMO PVMT MARKING, COMBO	9/2/25	9/16/25	1	2.00	EA	Change Order item of work	0	0	0	0	
5109	6200009	PREF THERMO PAVMT MARKING, 6 IN WHITE	9/2/25	9/16/25	1	722.00	LF	Change Order item of work	0	0	0	0	

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 8 of 16



Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
JKU0046	0040	BIT. PAVEMENT	Other Item	Type	6	May 2,	watkib6	\$931.45	AC Adjustment for BP-2 Shoulders on MO-1
		MIXTURE PG64-22 (BP-2)	Adjustment		-	2025		******	
		. 60 . 22 (2. 2)		ACAD - Tot	al			\$931.45	
			Other Item A	djustment - 1	Total			\$931.45	
	0040 -	Total						\$931.45	
	0050	ASPH. CONC. MIXTURE PG 70-22 (SP095B)	Other Item Adjustment	ACAD	5	Apr 15, 2025	watkib6	\$4,038.85	AC Adjustment
		()			6	May 2, 2025	watkib6	\$1,285.11	AC Adjustment for SP095 MO-1
				ACAD - Tot				\$5,323.96	
			Other Item A	djustment - T	otal			\$5,323.96	
	0050 -	Total						\$5,323.96	
	0070	FURN & PLACE CONC MATL FOR FULL DEPTH	Material		3	Mar 17, 2025	SYSTEM	(\$92,630.48)	
		. 022 32			3	Mar 17, 2025	SYSTEM	\$92,630.48	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user waitep3 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Apr 2, 2025	SYSTEM	(\$92,630.48)	
					4	Apr 2, 2025	SYSTEM	\$92,630.48	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user watkib6 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0070 -	Total						\$0.00	
	0100	PAVEMENT	Overrun	Overrun	3	Mar 17, 2025	SYSTEM	(\$197.20)	
		REPAIR SAW CUT (FOR			4	Apr 2, 2025	SYSTEM	\$197.20	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',1.45000 - 1.45000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - To	otal				\$0.00	
	0100 -	Total						\$0.00	
	0110	DOWEL BAR Material (DRILLING, FURNISHING AND	Material		3	Mar 17, 2025	SYSTEM	(\$3,349.00)	
		INST	5 ANU		3	Mar 17, 2025	SYSTEM	\$3,349.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user waitep3 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					4	Apr 2, 2025	SYSTEM	(\$3,349.00)	
					4	Apr 2, 2025	SYSTEM	\$3,349.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user watkib6 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0110 -	Total						\$0.00	
	0120	DOWEL BAR (FURNISH AND	Material		3	Mar 17, 2025	SYSTEM	(\$367.20)	
		INSTALL WITH BASK			3	Mar 17, 2025	SYSTEM	\$367.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user waitep3 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					4	Apr 2, 2025	SYSTEM	(\$367.20)	. ,
					4	Apr 2, 2025	SYSTEM	\$367.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user watkib6 overridding Payment Estimate Exception 5 on the current Payment Estimate.
			- Total					\$0.00	
		_							
			Material - To	tal				\$0.00	
			Material - To Overrun	Overrun	3	Mar 17, 2025	SYSTEM	(\$344.25)	



					_				
Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JKU0046	0120	DOWEL BAR (FURNISH AND	Overrun	Overrun		2025			previous payment estimates. Price Adjustments of ',7.65000 - 7.65000, 'is applied (if non-zero).
		INSTALL WITH BASK		Overrun - T	otal			\$0.00	
			Overrun - To	tal				\$0.00	
	0120 -	Total						\$0.00	
	0130	TIE BAR (DRILL, FURN & INSTAL)	Material		3	Mar 17, 2025	SYSTEM	(\$36.30)	
		(TYPE L			3	Mar 17, 2025	SYSTEM	\$36.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user waitep3 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					4	Apr 2, 2025	SYSTEM	(\$36.30)	
						4	Apr 2, 2025	SYSTEM	\$36.30
					5	Apr 15, 2025	SYSTEM	(\$36.30)	
					5	Apr 15, 2025	SYSTEM	\$36.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user watkib6 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0130 -	Total						\$0.00	
	0140	FURN & PLACE BIT. MATL FOR	Other Item Adjustment	ACAD	4	Apr 2, 2025	watkib6	\$22.93	AC Adjustment for B2 tons place for partial depth pavement repair
		CL B PARTIAL			5	Apr 15, 2025	watkib6	\$71.55	AC Adjustment
				ACAD - Tota	al			\$94.48	
			Other Item A	djustment - T	otal			\$94.48	
	0140 -	Total						\$94.48	
	0230		1ARK, 24	Overrun	6	May 2, 2025	SYSTEM	(\$2,736.00)	
					8	Jun 2, 2025	SYSTEM	\$2,736.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',24.00000 - 24.00000, 'is applied (if non-zero).
				Overrun - Total				\$0.00	
			Overrun - To	tal				\$0.00	
	0230 -	Total						\$0.00	
	0240	PREF THERMO PVMT MARK, 24 IN YELLOW	Overrun	Overrun	6	May 2, 2025	SYSTEM	(\$3,240.00)	
		IIV TEELOW			8 Jun 2, SYSTEM 2025			\$3,240.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',24.00000 - 24.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - To	tal				\$0.00	
	0240 -	Total						\$0.00	
	0250	PREF THERMO PVMT MARK, LT/RT ARROW	Overrun	Overrun	6	May 2, 2025	SYSTEM	(\$5,250.00)	
		LIMI AMOV			8	Jun 2, 2025	SYSTEM	\$5,250.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',350.00000 - 350.00000, 'is applied (if non-zero).
				otal		\$0.00			
			Overrun - To	tal				\$0.00	
	0250 -	Total						\$0.00	
	0270	PREF THERMO PVMT MARK, 30"	Overrun	Overrun	6	May 2, 2025	SYSTEM	(\$2,520.00)	
		WHT MIDBL			8	Jun 2, 2025	SYSTEM	\$2,520.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',210.00000 - 210.00000, 'is applied (if non-zero).
				Overrun - Total	otal			\$0.00	
			Overrun - To	tal				\$0.00	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JKU0046	0270 -	Total	1					\$0.00	
	0280	4 IN. YELLOW HIGH BUILD WATERBORNE	Other Item Adjustment	REFL	13	Aug 15, 2025	woodyb2	(\$4.10)	
		PAVEMENT		REFL - Tota	ıl			(\$4.10)	
		MARKING PAINT, TYPE L BEADS	Other Item A	djustment - 1	otal			(\$4.10)	
	0280 -	Total						(\$4.10)	
	0290	6 IN. WHITE HIGH BUILD WATERBORNE	Other Item Adjustment	REFL	13	Aug 15, 2025	woodyb2	(\$48.03)	
		PAVEMENT MARKING PAINT,		REFL - Tota	ıl			(\$48.03)	
		TYPE L BEADS	Other Item A	djustment - 1	otal			(\$48.03)	
	0290 -	Total						(\$48.03)	
	0300	6 IN. YELLOW HIGH BUILD WATERBORNE	Other Item Adjustment	REFL	13	Aug 15, 2025	woodyb2	(\$399.49)	
		PAVEMENT MARKING PAINT,		REFL - Tota				(\$399.49)	
		TYPE L BEADS		djustment - T				(\$399.49)	
			Overrun	Overrun	6	May 2, 2025	SYSTEM	(\$300.56)	
					8	Jun 2, 2025	SYSTEM	\$300.56	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.26000 - 0.26000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - To	otal				\$0.00	
	- Total						(\$399.49)		
JKU0046			au u		_			\$5,898.27	
JKU0054	0410	BIT. PAVEMENT MIXTURE PG64-22 (BP-2)	Other Item Adjustment	ACAD	7	May 16, 2025	watkib6	\$283.84	AC Adjustment for BP-2 Shoulder Mix first pay period of May
					9	Jun 16, 2025 Jul 1,	watkib6	\$144.53 \$4,885.62	AC adjustment made for 150.56 tons placed AC Adjustment of \$4885.62 for 5640.06 Tons placed
					11	2025 Jul 15,	watkib6	\$342.63	AC adjustment made for 398.41 tons of BP2 mix placed.
				ACAD - Tot		2025	Wattibo	\$5,656.62	The adjustment made to cool. The one of the Limit placed.
			Other Item A	djustment - 1				\$5,656.62	
	0410 -	Total						\$5,656.62	
	0420	MIXTURE PG	Other Item Adjustment	ACAD	6	May 2, 2025	watkib6	\$2,671.13	AC Adjustment for SP095 Route 152
		76-22 (SP095C)			7	May 16, 2025	watkib6	\$8,736.06	AC Adjustment for SP095 first pay period of May
					8	Jun 2, 2025	watkib6	\$3,917.06	AC adjustment being made for 4080.27 tons of SP095C mix placed on JKU0054
					9	Jun 16, 2025	watkib6	\$11,951.26	AC adjustment made for 12,449.21 tons placed
					10	Jul 1, 2025	watkib6	\$1,664.38	AC Adjustment of \$1664.38 for 1733.73 Tons Placed
				ACAD - Tot				\$28,939.89	
				djustment - T		,	0)/0==:	\$28,939.89	
			Overrun	Overrun	9	Jun 16, 2025	SYSTEM	(\$162,914.50)	
					10	Jul 1, 2025 Aug 2,	SYSTEM	(\$196,778.36) \$359,692.85	Unit price based on averaged overrun adjustments for installed quantity on all
					14	2025	SISIEW	φυυσ,υ ઝ ∠.00	previous payment estimates. Price Adjustments of ',113.50000 - 113.50000, 'is applied (if non-zero).
				Overrun - T	otal			(\$0.01)	
			Overrun - To	otal				(\$0.01)	
	0420 -	Total						\$28,939.88	
	0460	FURN & PLACE	Material		1	Nov 18,	SYSTEM	(\$98,372.40)	



roject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
U0054	0460	CONC MATL FOR	Material			2024			
		FULL DEPTH			1	Nov 18, 2024	SYSTEM	\$98,372.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user caihaj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2	Dec 2, 2024	SYSTEM	(\$110,091.76)	
					2	Dec 2, 2024	SYSTEM	\$110,091.76	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user caihaj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Mar 17, 2025	SYSTEM	(\$110,091.76)	
					3	Mar 17, 2025	SYSTEM	\$110,091.76	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user waitep3 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0460 -	- Total						\$0.00	
	0500	DOWEL BAR (DRILLING, FURNISHING AND	Overrun	Overrun	1	Nov 18, 2024	SYSTEM	(\$170.00)	
		INST			2	Dec 2, 2024	SYSTEM	\$170.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',4.25000 - 4.25000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - To	tal				\$0.00	
	0500 -							\$0.00	
	0510	DOWEL BAR (FURNISH AND INSTALL WITH	Material		1	Nov 18, 2024	SYSTEM	(\$1,009.80)	
		BASK			1	Nov 18, 2024	SYSTEM	\$1,009.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user caihaj1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
			Material To	- Total				\$0.00	
	0510 -	Total	Material - To	tal				\$0.00	
								\$0.00	
		TIE BAR (DRILL,	Material		1	Nov 18,	SYSTEM	\$0.00 (\$178.20)	
			Material		1	Nov 18, 2024 Nov 18, 2024	SYSTEM SYSTEM		This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user caihaj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
		TIE BAR (DRILL, FURN & INSTAL)	Material	- Total		2024 Nov 18,		(\$178.20) \$178.20	
		TIE BAR (DRILL, FURN & INSTAL)	Material Material - To	- Total tal		2024 Nov 18,		(\$178.20)	Estimate Item Adjustment (0005) due to user caihaj1 overridding Payment
	0520	TIE BAR (DRILL, FURN & INSTAL)				2024 Nov 18,		(\$178.20) \$178.20 \$0.00	Estimate Item Adjustment (0005) due to user caihaj1 overridding Payment
	0520	TIE BAR (DRILL, FURN & INSTAL) (TYPE L				2024 Nov 18, 2024		(\$178.20) \$178.20 \$0.00 \$0.00	Estimate Item Adjustment (0005) due to user caihaj1 overridding Payment
	0520 0520 -	TIE BAR (DRILL, FURN & INSTAL) (TYPE L	Material - To		1	Nov 18, 2024 Nov 18,	SYSTEM	(\$178.20) \$178.20 \$0.00 \$0.00	Estimate Item Adjustment (0005) due to user caihaj1 overridding Payment
	0520 0520 -	TIE BAR (DRILL, FURN & INSTAL) (TYPE L	Material - To		1	Nov 18, 2024 Nov 18, 2024 Nov 18, 2024 Nov 18,	SYSTEM	(\$178.20) \$178.20 \$0.00 \$0.00 \$0.00 (\$3,829.30)	Estimate Item Adjustment (0005) due to user caihaj1 overridding Payment Estimate Exception 7 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user caihaj1 overridding Payment
	0520 0520 -	TIE BAR (DRILL, FURN & INSTAL) (TYPE L	Material - To	tal - Total	1	Nov 18, 2024 Nov 18, 2024 Nov 18, 2024 Nov 18,	SYSTEM	(\$178.20) \$178.20 \$0.00 \$0.00 \$0.00 (\$3,829.30) \$3,829.30	Estimate Item Adjustment (0005) due to user caihaj1 overridding Payment Estimate Exception 7 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user caihaj1 overridding Payment
	0520 - 0520 - 0550	TIE BAR (DRILL, FURN & INSTAL) (TYPE L	Material - To	tal - Total	1	Nov 18, 2024 Nov 18, 2024 Nov 18, 2024 Nov 18,	SYSTEM	(\$178.20) \$178.20 \$0.00 \$0.00 \$0.00 (\$3,829.30) \$3,829.30	Estimate Item Adjustment (0005) due to user caihaj1 overridding Payment Estimate Exception 7 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user caihaj1 overridding Payment
	0520 - 0520 - 0550 -	TIE BAR (DRILL, FURN & INSTAL) (TYPE L - Total CONSTRUCTION SIGNS	Material - To	tal - Total	1	Nov 18, 2024 Nov 18, 2024 Nov 18, 2024 Nov 18,	SYSTEM	(\$178.20) \$178.20 \$0.00 \$0.00 \$0.00 (\$3,829.30) \$3,829.30 \$0.00	Estimate Item Adjustment (0005) due to user caihaj1 overridding Payment Estimate Exception 7 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user caihaj1 overridding Payment
	0520 - 0520 - 0550 -	TIE BAR (DRILL, FURN & INSTAL) (TYPE L - Total CONSTRUCTION SIGNS	Material - To Material Material - To	- Total	1 1 1	Nov 18, 2024 Nov 18, 2024 Nov 18, 2024 Nov 18, 2024	SYSTEM SYSTEM	(\$178.20) \$178.20 \$0.00 \$0.00 \$0.00 (\$3,829.30) \$3,829.30 \$0.00 \$0.00	Estimate Item Adjustment (0005) due to user caihaj1 overridding Payment Estimate Exception 7 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user caihaj1 overridding Payment
	0520 - 0520 - 0550 -	TIE BAR (DRILL, FURN & INSTAL) (TYPE L - Total CONSTRUCTION SIGNS	Material - To Material - To Overrun	- Total tal Overrun	1 1 1 2	Nov 18, 2024 Nov 18, 2024 Nov 18, 2024 Nov 18, 2024 Dec 2,	SYSTEM SYSTEM SYSTEM	(\$178.20) \$178.20 \$0.00 \$0.00 \$0.00 (\$3,829.30) \$3,829.30 \$0.00 \$0.00 \$3,050.00) \$3,050.00	Estimate Item Adjustment (0005) due to user caihaj1 overridding Payment Estimate Exception 7 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user caihaj1 overridding Payment Estimate Exception 10 on the current Payment Estimate. Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',25.00000 - 25.00000, 'is
	0520 - 0550 - 0550 - 0570 - 05	TIE BAR (DRILL, FURN & INSTAL) (TYPE L -Total CONSTRUCTION SIGNS -Total CHANNELIZER (TRIM-LINE)	Material - To Material Material - To	- Total tal Overrun	1 1 1 2	Nov 18, 2024 Nov 18, 2024 Nov 18, 2024 Nov 18, 2024 Dec 2,	SYSTEM SYSTEM SYSTEM	(\$178.20) \$178.20 \$0.00 \$0.00 \$0.00 (\$3,829.30) \$3,829.30 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0005) due to user caihaj1 overridding Payment Estimate Exception 7 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user caihaj1 overridding Payment Estimate Exception 10 on the current Payment Estimate. Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',25.00000 - 25.00000, 'is
	0520 - 0550 - 0550 - 0570 - 05	TIE BAR (DRILL, FURN & INSTAL) (TYPE L - Total CONSTRUCTION SIGNS - Total CHANNELIZER (TRIM-LINE)	Material - To Material - To Overrun Overrun - To	- Total tal Overrun	1 1 1 2 2 ootal	Nov 18, 2024 Nov 18, 2024 Nov 18, 2024 Nov 18, 2024 Dec 2, 2024	SYSTEM SYSTEM SYSTEM SYSTEM	(\$178.20) \$178.20 \$0.00 \$0.00 \$0.00 (\$3,829.30) \$3,829.30 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0005) due to user caihaj1 overridding Payment Estimate Exception 7 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user caihaj1 overridding Payment Estimate Exception 10 on the current Payment Estimate. Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',25.00000 - 25.00000, 'is
	0520 - 0550 - 0550 - 0570 - 05	TIE BAR (DRILL, FURN & INSTAL) (TYPE L -Total CONSTRUCTION SIGNS -Total CHANNELIZER (TRIM-LINE)	Material - To Material - To Overrun	- Total tal Overrun	1 1 1 2	Nov 18, 2024 Nov 18, 2024 Nov 18, 2024 Nov 18, 2024 Dec 2,	SYSTEM SYSTEM SYSTEM	(\$178.20) \$178.20 \$0.00 \$0.00 \$0.00 (\$3,829.30) \$3,829.30 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0005) due to user caihaj1 overridding Payment Estimate Exception 7 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user caihaj1 overridding Payment Estimate Exception 10 on the current Payment Estimate. Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',25.00000 - 25.00000, 'is



Material Total Section Type Section	Monte	Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
Association	Material Total	(U0054	0580		Material						Estimate Exception 12 on the current Payment Estimate.
	1			BARRICADE							
1	Moderal				Material - To	tal					
ARROW PANEL 2024 1 Nov 18, SYSTEM 32.250.00 Emission letters the original system generated Material Payment Estimate Exception 13 on the outreat Payment Estimate Exception 14 on the outreat Payment Estimate Exception 15 on the Outreat Payment Estimate Exception 15 on the outreat Payment Estimate Exception 15 on the outreat Payment Estimate Exception 1 on the outreat Pa	ARROW PANEL 1 Nov 16, 2024 1 Nov 16, SYSTEM \$2,200.00 This adjustment offsets the original system-generated Material Psyment Estimate Exception 13 on the current Psyment Estimate Exception 14 on the current Psyment Estimate Estimate Exception 14 on the current Psyment Estimate Exception 14 on the current Psyment Estimate Exception 14 on the current Psyment Estimate Estimate Estimate Exception 14 on the current Psyment Estimate Estimate Estimate Exception 14 on the current Psyment Estimate Estimate Estimate Exception 14 on the current Psyment Estimate Estimate Exception 14 on the current Psyment Estimate Estimate Estimate Exception 14 on the current Psyment Estimate Estimate Estimate Exception 14 on the current Psyment Estimate Es		0580 -	Total						\$0.00	
Part	Page		0600		Material		1		SYSTEM	(\$2,250.00)	
Material Total So.00	Material - Total So.00						1		SYSTEM	\$2,250.00	Estimate Item Adjustment (0008) due to user caihaj1 overridding Payment
Column						- Total				\$0.00	
Material	Material Membra				Material - To	tal				\$0.00	
MESSAGE SIGN VITE	MESSAGE SIGN 1		0600 -	Total						\$0.00	
1	COMMUNICATION 1 Nov 18. SYSTEM So.000 So		0620	MESSAGE SIGN	Material		1		SYSTEM	(\$5,000.00)	
RETAINED	RETAINED Material - Total S0.00			WITH COMMUNICATION INTERFACE,			1		SYSTEM	\$5,000.00	Estimate Item Adjustment (0009) due to user caihaj1 overridding Payment
Material - Total	Material - Total Supplied The Part The RMO PART					- Total				\$0.00	
Overrun Overrun 13	Description PREF THERMO PROTECTION P				Material - To	tal				\$0.00	
PMT MARK, 24 IN WHITE	PVMT MARK, 24 N.W.HT		0620 -	Total						\$0.00	
15	15 Sep 16, 2025 SYSTEM S2,400.00 Unit price based on averaged overrun adjustments of ',24,00000 - 24,00000, 'is applied (if non-zero). Overrun - Total		0650	PVMT MARK, 24	Overrun	Overrun	13		SYSTEM	(\$2,400.00)	
Overrun - Total S0.00 S0.00	Overrun - Total So.00 So.00 So.00 Overrun - Total So.00 So.00 Overrun - Total Overrun -			IN WHIT			15		SYSTEM	\$2,400.00	previous payment estimates. Price Adjustments of ',24.00000 - 24.00000, 'is
1	OFTO PREF THERMO									\$0.00	
Overrun	OF70 PREF THERMO PWMT MARK, 30 Overrun 14 Sep 2, 2025 15 Sep 16, SYSTEM \$420.00 Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',210,00000 - 210,00000, 'is applied (if non-zero). Overrun - Total				Overrun - To	tal				\$0.00	
PVMT MARK, 30° WHT MIDBL	PMT MARK, 30" 2025 15 Sep 16, SYSTEM \$420.00 Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',210.00000 - 210.00000, 'is applied (if non-zero). Overrun - Total		0650 -	Total						\$0.00	
15 Sep 16, 2025 SYSTEM \$420.00 Unit price based on averaged overrun adjustments of rinstalled quantity on all previous payment estimates. Price Adjustments of ',210.00000 - 210.00000, 'is applied (if non-zero). Overrun - Total	15 Sep 16, SySTEM \$420.00 Unit price based on averaged overrun adjustments for installed quantity on all price based on averaged overrun adjustments for installed quantity on all price based on averaged overrun adjustments for installed quantity on all price based on averaged overrun adjustments for installed quantity on all price based on averaged overrun adjustments for installed quantity on all price based on averaged overrun adjustments for installed quantity on all price based on averaged overrun adjustments for installed quantity on all price based on averaged overrun adjustments for installed quantity on all price based on averaged overrun adjustments of ',210.00000 -,210.00000 -,210.00000 -,30.000		0670	PVMT MARK, 30"	Overrun	Overrun	14		SYSTEM	(\$420.00)	
Overrun - Total \$0.00	Overrun - Total \$0.00			WHI MIDEL			15		SYSTEM	\$420.00	previous payment estimates. Price Adjustments of ',210.00000 - 210.00000, 'is
Section Sect	1					Overrun - T	otal			\$0.00	
1	0690 6 N. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS WELLOW WATERBORNE PAVEMENT WATERBORNE PAV				Overrun - To	tal				\$0.00	
BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS Other Item Adjustment - Total (\$457.83) Other Item Adjustment - Total (\$1,049.88) Other Item Adjustment - Total	BUILD MARKING PAINT, TYPE L BEADS Other Item Adjustment - Total (\$457.83)		0670 -	Total						\$0.00	
PAVEMENT MARKING PAINT, TYPE L BEADS Other Item Adjustment - Total (\$457.83)	PAVEMENT Marking Paint Type L Beads Other Item Adjustment - Total (\$457.83)		0690	BUILD		REFL	14		woodyb2		
TYPE L BEADS	TYPE L BEADS					REFL - Tota	ıl			(\$457.83)	
O690 - Total	0690 - Total (\$457.83)				Other Item A	diustment - I	otal			(\$457.83)	
0700 6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS 0700 - Total 0700 - Total 0700 - WATERBORNE PAVEMENT MARKING WATERBORNE PAVEMENT MARKING 0700 - Total 0710 - Total	O700 6 N. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS		0690								
WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS Other Item Adjustment - Total (\$1,049.88)	WATERBORNE			6 IN. YELLOW		REFL	14	Sep 2,	woodyb2		
MARKING PAINT, TYPE L BEADS Other Item Adjustment - Total (\$1,049.88) O720 4 IN. WHITE WATERBORNE PAVEMENT MARKING MARKING Material - Total (\$1,049.88) (\$329.76) SYSTEM (\$329.76) This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user watkib6 overridding Payment Estimate Exception 1 on the current Payment Estimate. - Total \$0.00	MARKING PAINT, TYPE L BEADS Other Item Adjustment - Total (\$1,049.88)			WATERBORNE	. rajacamont	DEEL Total				(\$4.040.00)	
0700 - Total 0720 VATERBORNE PAVEMENT MARKING 0720 WATERBORNE PAVEMENT MARKING 0730 WATERBORNE PAVEMENT MARKING 0740 WATERBORNE PAVEMENT WATER	11			MARKING PAINT,							
0720 4 IN. WHITE WATERBORNE PAVEMENT MARKING Material 11 Jul 15, 2025 11 Jul 15, 2025 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user watkib6 overridding Payment Estimate Exception 1 on the current Payment Estimate. - Total Material - Total \$0.00	11			TYPE L BEADS	Other Item A	djustment - T	otal			(\$1,049.88)	
WATERBORNE PAVEMENT MARKING 11 Jul 15, 2025 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user watkib6 overridding Payment Estimate Exception 1 on the current Payment Estimate. - Total \$0.00 Material - Total \$0.00	WATERBORNE PAVEMENT MARKING 11 Jul 15, 2025 11 Jul 15, 2025 SYSTEM \$329.76 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user watkib6 overridding Payment Estimate Exception 1 on the current Payment Estimate. 12 SO.00 13 Aug 15, SYSTEM \$329.76 This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate. \$0.00 \$0.		0700 -	Total						(\$1,049.88)	
MARKING 11 Jul 15, 2025 SYSTEM \$329.76 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user watkib6 overridding Payment Estimate Exception 1 on the current Payment Estimate. Total \$0.00 Material - Total \$0.00	MARKING 11		0720	WATERBORNE	Material		11		SYSTEM	(\$329.76)	
Material - Total \$0.00	Material - Total \$0.00						11		SYSTEM	\$329.76	Estimate Item Adjustment (0001) due to user watkib6 overridding Payment
	0720 - Total \$0.00 0730					- Total				\$0.00	
0720 Total	0730 4 IN. YELLOW Overrun 12 Aug 2, 2025 2025				Material - Total						
\$7.00 Total	WATERBORNE		0720 -	Total					\$0.00		
WATERBORNE 2025	MARKING 13 Aug 15, SYSTEM (\$11.52)		0730	WATERBORNE	Overrun	Overrun	12		SYSTEM	(\$150.88)	
MARKING 13 Aug 15, SYSTEM (\$11.52)	LUZU						13	Aug 15, 2025	SYSTEM	(\$11.52)	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks			
JKU0054	0730	4 IN. YELLOW WATERBORNE PAVEMENT	Overrun	Overrun	15	Sep 16, 2025	SYSTEM	\$162.40	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.16000 - 0.16000, 'is applied (if non-zero).			
		MARKING		Overrun - T	otal			\$0.00				
			Overrun - To		otai			\$0.00				
	0730 -	Total	Overruit - 10	iai				\$0.00				
	0800	MGS GUARDRAIL,	Construction		11	Jul 15,	SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction			
	0000	8 FT. POSTS, 6	Stockpile		11	2025	STSTEIN	(\$15,908.75)	Payment Estimate item Adjustment generated Stockpile Transaction			
		FT 3 IN			12	Aug 2, 2025	SYSTEM	(\$25,017.85)	Payment Estimate Item Adjustment generated Stockpile Transaction			
				- Total				(\$40,926.60)				
			Construction	Stockpile - 1	Total			(\$40,926.60)				
			Construction Stockpile STMI		6	May 2, 2025	SYSTEM	\$40,926.60	Payment Estimate Item Adjustment generated Stockpile Transaction			
			STIVII	- Total				\$40,926.60				
			Construction	Stockpile S	ГМI - Total			\$40,926.60				
	0800 -	Total						\$0.00				
	0810	MGS BRIDGE APP. TRANS SEC	Construction Stockpile		11	Jul 15, 2025	SYSTEM	(\$3,738.60)	Payment Estimate Item Adjustment generated Stockpile Transaction			
		EXT CURB)		- Total				(\$3,738.60)				
			Construction	Stockpile - 1	Γotal			(\$3,738.60)				
						Construction Stockpile STMI		6	May 2, 2025	SYSTEM	\$3,738.60	Payment Estimate Item Adjustment generated Stockpile Transaction
			STIVII	- Total				\$3,738.60				
			Construction	Stockpile S	ГМI - Total			\$3,738.60				
	0810 -	Total						\$0.00				
	0820	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Stockpile		11	Jul 15, 2025	SYSTEM	(\$3,635.60)	Payment Estimate Item Adjustment generated Stockpile Transaction			
					12	Aug 2, 2025	SYSTEM	(\$10,906.80)	Payment Estimate Item Adjustment generated Stockpile Transaction			
				- Total				(\$14,542.40)				
			Construction	Stockpile - 1	Γotal			(\$14,542.40)				
			Construction Stockpile STMI		6	May 2, 2025	SYSTEM	\$14,542.40	Payment Estimate Item Adjustment generated Stockpile Transaction			
			011111	- Total				\$14,542.40				
			Construction	Stockpile S	ГМI - Total			\$14,542.40				
	0820 -	Total						\$0.00				
	0830	MGS END ANCHOR	Construction Stockpile		11	Jul 15, 2025	SYSTEM	(\$1,468.90)	Payment Estimate Item Adjustment generated Stockpile Transaction			
					12	Aug 2, 2025	SYSTEM	, , , , ,	Payment Estimate Item Adjustment generated Stockpile Transaction			
				- Total				(\$3,672.25)				
			Construction	Stockpile - 1				(\$3,672.25)				
			Construction Stockpile STMI		6	May 2, 2025	SYSTEM	\$3,672.25	Payment Estimate Item Adjustment generated Stockpile Transaction			
				- Total				\$3,672.25				
			Construction	Stockpile S	MI - Total			\$3,672.25				
	0830 -							\$0.00				
		TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile		11	Jul 15, 2025	SYSTEM	(\$10,206.60)	Payment Estimate Item Adjustment generated Stockpile Transaction			
				12 Aug 2, SYSTEM 2025		(\$15,309.90)	Payment Estimate Item Adjustment generated Stockpile Transaction					
				- Total				(\$25,516.50)				
			Construction	Stockpile - 1				(\$25,516.50)				
			Construction Stockpile STMI		6	May 2, 2025	SYSTEM	\$25,516.50	Payment Estimate Item Adjustment generated Stockpile Transaction			
				- Total				\$25,516.50				

Sep 19, 2025



Line Item Adjustments by Estimate

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JKU0054	0840	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction	Stockpile S	TMI - Total			\$25,516.50	
	0840 -	Total						\$0.00	
	5106	MGS GUARDRAIL	Material		13	Aug 15, 2025	SYSTEM	(\$1,856.25)	
					13	Aug 15, 2025	SYSTEM	\$1,856.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user woodyb2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					14	Sep 2, 2025	SYSTEM	(\$1,856.25)	
					14	Sep 2, 2025	SYSTEM	\$1,856.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user woodyb2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	5106 -	Total						\$0.00	
JKU0054	- Total							\$33,088.79	
Overall -	Γotal							\$38,987.06	



Contract Adjustments for Contract - 240920-C03

1	
1-Total	Log Mile 1.788) to he engineer trepair and pth and partial 346) to Shoal Creek gineer approximately soliated pay items" or the following at from the contractor completes described in section
Secondary Seco	contractor completes described in section
Adjustment	
Contract Adjustment	
Solution	
10	
Damage	
Contract Adjustment	յ) as per JSP C –
10 - Total	n Lot.
11	n Lot.
11 - Total 2025 2	
12	
Contract Adjustment	
Contract Adjustment	
JKU0054 Liquidated Damage OTHR \$4,000.00 100 August 15, 2025 woodyb2 This offsets the previously charged Liquidated Damages for road user cost, on Jun exceeding JSP time restrictions. Other Contract Adjustment Other Contract Adjustment Ruc (\$4,000.00) 100 August 15, 2025 woodyb2 \$4,000 total LD for the JKU0054 project. Shift on 6/19/25 exceeded the time restriction of 6:00 AM (following morning) as per 3.5 by 60 minutes for a total \$4,000.	. Pay adjustment of
Damage Other Contract Adjustment Other Contrac	
Contract Adjustment Other Contract Adjustment Other Contract Adjustment Contract Contract Adjustment Contract Contra	on June 19th, for
Contract 15, 2025 Shift on 6/19/25 exceeded the time restriction of 6:00 AM (following morning) as per Adjustment 3.5 by 60 minutes for a total \$4,000.	
	յ) as per JSP C –
13 - Total \$65,712.08	
Overall - Total \$383,735.57	

Revision 5/29/2025 Page 16 of 16